Name: Multiplying two digits by a multiple of 10
Multiply a two digit number by a multiple of ten

1) 40x 50 = 11) 72 x 70 = 21) 49 x 90 =

2) 71x30= 12) 11 x 20 = 22) 14 x 50 =

3) 98x30= 13) 89 x 10 = 23) 79 x40 =

4) 95x20= 14) 31 x 80 = 24) 36 x 20 =

5 71x40= 15) 96 x 60 = 25) 99 x 40 =

6) 47 x 70 = 16) 53 x 80 = 26) 37 x 70 =

7) 13x70= 17) 51 x 70 = 27) 72 x 90 =

8) 92x80= 18) 69 x 50 = 28) 85x 80 =

9) 71x30= 19) 36 x 30 = 29) 26 X 80 =

10) 74 x 90 = 20) 32 x40 = 30) 71 x 60 =

Answers, fold under: Mark your work when you have finished.

1) 2000 6) 3290 11) 5040 16) 4240 21) 4410 26) 2590

2) 2130 7) 910 12) 220 17) 3570 22) 700 27) 6480

3) 2940 8) 7360 13) 890 18) 3450 23) 3160 28) 6800

4) 1900 9) 2130 14) 2480 19) 1080 24) 720 29) 2080

5) 2840 10) 6660 15) 5760 20) 1280 25) 3960 30) 4260
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